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Exercice 1

Calculer les expressions suivantes en détaillant les calculs.

A = 12 ÷ (9 − 5)

B = 13 × (10 − 4)

C = 11 × 11 − 12

D = 5 × 7 − (3 + 7) ÷ 10 + 13

E = 11 − 3 + 5 × 8 ÷ 4 + 4

F = 7 + 7 ÷ 7 × 13 − 3 + 6

G = 11 × 3 + 7 + 12 − 5 ÷ 5

H = 7 × 8,5 − (4,2 + 7,3) + 8,7

I = 9,2 × 2,6 − 2,9 + 5,6 + 9,3

Exercice 2

Calculer les expressions suivantes en détaillant les calculs.

A = 8 − 12 ÷ 3

B = 7 × 12 ÷ 12

C = 5 + 11 × 3

D = 3 + 13 + 10 × 6 ÷ (10 − 9)

E = 11 + 10 × (6 − 3) ÷ (9 + 6)

F = 12 ÷ 6 × 9 + 10 − (8 + 11)

G = 12 ÷ (11 − 5) + 3 × 5 + 8

H = 5,2 + 8 + 1,5 × (8,2 − 4,5)

I = 3,4 + 9,2 + 8,5 − 3,8 × 2,8

Exercice 3

Calculer les expressions suivantes en détaillant les calculs.

A = 10 × (13 + 5)

B = 12 + 6 × 8

C = 12 × 6 + 11

D = 5 × 8 + 6 ÷ 3 − 5 + 3

E = 5 × (10 + 2) ÷ 4 + 5 − 3

F = 4 × 5 + 8 ÷ 2 + 7 − 13

G = 12 × (7 + 7) ÷ 7 − (12 + 3)

H = 2,2 × 9,2 + 9,8 − 6,7 + 6,4

I = 4,3 × (7,8 + 4,2) − 6,5 + 1,4

Exercice 4

Calculer les expressions suivantes en détaillant les calculs.

A = 11 × 10 + 3

B = 5 + 9 − 11

C = 4 + 7 × 6

D = 8 + 8 − 7 × 8 ÷ (2 + 2)

E = 8 − 11 ÷ (5 + 6) + 7 × 10

F = 3 ÷ 3 × 6 + 13 − (2 + 5)

G = 8 × 12 + 13 − (6 + 6) ÷ 6

H = 6,2 × 2,6 − 5,3 + 1,5 + 1,4

I = 9,7 + 5,8 + 5,7 × (4,7 − 2,1)

Exercice 5

Calculer les expressions suivantes en détaillant les calculs.

A = 9 × 9 − 4

B = 3 × 11 − 10

C = 8 − 7 + 13

D = 8 + 7 ÷ (13 − 6) + 9 × 4

E = 9 + 10 × 5 + 8 ÷ 4 − 11

F = 4 − 3 + 4 + 3 × 2 ÷ 2

G = 9 × (11 + 12) + 11 ÷ (7 − 6)

H = 4,4 − 3,1 + 5 + 9,6 × 1,4

I = 7,8 × 2,8 + 5,6 + 9,2 − 7,9

Exercice 6

Calculer les expressions suivantes en détaillant les calculs.

A = 7 + 4 × 10

B = 13 + 9 × 13

C = 9 − 3 + 4

D = 4 + 4 ÷ 4 + 10 × 2 − 2

E = 6 × 8 ÷ 4 + 12 + 7 − 13

F = 13 + 8 ÷ 2 × (4 + 7) − 3

G = 5 × 7 + 12 ÷ (3 + 9) − 8

H = 9,5 − 8 + 2,7 + 3,8 × 8,4

I = 6 × 9,9 − 1,9 + 5 + 2,7

Année 2015/2016

www.talamidi.com تم تحميل هذا الملف من موقع تلاميذي

http://www.toupty.com/exercice-math-5eme.html



